

SUMMARY OF QUANTITIES				СВВ ОРС			SPENCER CONTRACTING		GERSHENSON CONSTRUCTION		SPENCER CONTRACTING	
ITEM NUM.	ITEM DESCRIPTION	UNIT	TOTAL QUANTITY	Unit Cost	CMAQ FUNDING Costs	Unit Cost	TOTAL Costs	Unit Cost	TOTAL Costs	Unit Cost	TOTAL Costs	
ROADWAY IT	ROADWAY ITEMS											
202-20.10	REMOVAL OF IMPROVEMENTS	L. SUM	1	\$50,000.00	\$50,000.00	\$43,000.00	\$43,000.00	\$44,000.00	\$44,000.00	\$52,000.00	\$52,000.00	
202-99.02a *	EX UTILITY MANHOLE (ATG)	EA	3	\$500.00	\$1,000.00	\$460.00	\$1,380.00	\$50.00	\$150.00	\$388.00	\$1,164.00	
202-99.02b *	EX BUSINESS SIGN (TBR&R)	EA	1	\$6,000.00	\$6,000.00	\$3,600.00	\$3,600.00	\$500.00	\$500.00	\$2,615.00	\$2,615.00	
202-99.02c *	EX WATER VALVE (ATG)	EA	1	\$500.00	\$500.00	\$115.00	\$115.00	\$150.00	\$150.00	\$241.50	\$241.50	
202-99.02d *	EX MAILBOX (TBR&R)	EA	1	\$500.00	\$500.00	\$150.00	\$150.00	\$150.00	\$150.00	\$295.75	\$295.75	
202-99.03 *	FENCE (TBR)	FT	20	\$100.00	\$2,000.00	\$36.46	\$729.20	\$10.00	\$200.00	\$31.70	\$634.00	
203-10.00	CLASS A EXCAVATION	CUYD	539.3	\$25.00	\$11,980.00	\$18.36	\$9,901.55	\$25.00	\$13,482.50	\$32.35	\$17,446.36	
203-60.00	COMPACTING EXCAVATION	CUYD	296.2	\$25.00	\$6,385.00	\$22.36	\$6,623.03	\$19.00	\$5,627.80	\$11.25	\$3,332.25	
304-05.04	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	SQYD	1594	\$7.50	\$10,395.00	\$10.94	\$17,438.36	\$6.75	\$10,759.50	\$8.55	\$13,628.70	
310-10.03	GRAVEL (A)	SQYD	63	\$7.50	\$472.50	\$7.12	\$448.56	\$9.00	\$567.00	\$17.75	\$1,118.25	
401-12.09	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BP-1)	TONS	285	\$95.00	\$22,420.00	\$99.61	\$28,388.85	\$102.00	\$29,070.00	\$136.75	\$38,973.75	
401-30.00	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE)	TONS	164.2	\$80.00	\$12,288.00	\$115.88	\$19,027.50	\$139.00	\$22,823.80	\$136.75	\$22,454.35	
407-10.05	TACK COAT	GAL	300	\$5.00	\$1,320.00	\$0.01	\$3.00	\$2.00	\$600.00	\$3.20	\$960.00	
502-11.06	CONCRETE PAVEMENT (6 IN. NON-REINF)	SQYD	99	\$50.00	\$4,950.00	\$53.52	\$5,298.48	\$48.00	\$4,752.00	\$53.00	\$5,247.00	
502-11.08	CONCRETE PAVEMENT (8 IN. NON-REINF)	SQYD	804	\$55.00	\$37,235.00	\$61.00	\$49,044.00	\$58.00	\$46,632.00	\$50.50	\$40,602.00	
608-30.06	6 IN. CONCRETE MEDIAN STRIP	SQYD	60	\$35.00	\$2,100.00	\$84.00	\$5,040.00	\$106.00	\$6,360.00	\$166.20	\$9,972.00	
608-50.08	PAVED APPROACH, 8 IN	SQYD	368	\$55.00	\$20,240.00	\$64.12	\$23,596.16	\$54.00	\$19,872.00	\$71.40	\$26,275.20	
609-20.12	CONCRETE CURB (6 IN. HEIGHT AND UNDER) TYPE S	LF	337	\$30.00	\$6,720.00	\$19.52	\$6,578.24	\$25.00	\$8,425.00	\$24.30	\$8,189.10	
609-20.11	INTEGRAL CURB (6 IN. HEIGHT AND UNDER) TYPE A	LF	116	\$30.00	\$3,480.00	\$9.20	\$1,067.20	\$11.00	\$1,276.00	\$23.45	\$2,720.20	
609-20.12	INTEGRAL CURB (6 IN. HEIGHT AND UNDER) TYPE B	LF	493	\$30.00	\$11,520.00	\$9.20	\$4,535.60	\$11.00	\$5,423.00	\$14.50	\$7,148.50	
616-10.05	CONSTRUCTION SIGNS	SQ FT	122.25	\$50.00	\$6,112.50	\$10.00	\$1,222.50	\$10.30	\$1,259.18	\$10.60	\$1,295.85	
616-10.10	RELOCATE SIGNS	SQ FT	160	\$50.00	\$8,000.00	\$6.00	\$960.00	\$6.20	\$992.00	\$6.35	\$1,016.00	
616-10.28	CHANNELIZER	EA	25	\$100.00	\$2,500.00	\$25.00	\$625.00	\$26.00	\$650.00	\$26.50	\$662.50	
616-10.33	DIRECTIONAL INDICATOR BARRICADE	EA	6	\$150.00	\$900.00	\$75.00	\$450.00	\$78.00	\$468.00	\$79.50	\$477.00	
616-99.01 *	MAINTENANCE OF TRAFFIC CONTROL ITEMS	LS	1	\$1,200.00	\$1,200.00	\$1,232.00	\$1,232.00	\$10,300.00	\$10,300.00	\$2,108.00	\$2,108.00	
616-99.02 *	RELOCATE CHANNELIZER	EA	42	\$100.00	\$4,200.00	\$1.00	\$42.00	\$8.00	\$336.00	\$8.50	\$357.00	
616-99.02 *	RELOCATE DIRECTIONAL INDICATOR BARRICADE	EA	11	\$150.00	\$1,650.00	\$1.00	\$11.00	\$10.00	\$110.00	\$10.60	\$116.60	
617-20.01 *	CONCRETE TRAFFIC BARRIER, TYPE B (MODIFIED)	LF	209	\$100.00	\$20,900.00	\$177.84	\$37,168.56	\$98.00	\$20,482.00	\$141.00	\$29,469.00	
618-10.00	MOBILIZATION	LS	1	\$22,000.00	\$19,253.82	\$24,737.00	\$24,737.00	\$63,000.00	\$63,000.00	\$28,995.00	\$28,995.00	
619-10.00	PAVEMENT EDGE TREATMENT	LF	1600	\$2.00	\$2,746.00	\$2.15	\$3,440.00	\$2.50	\$4,000.00	\$1.95	\$3,120.00	

Page 1 of 6 10/19/18



	SUMMARY OF QUANTITIES		CBB OPC			SPENCER CONTRACTING		CONSTRUCTION	SPENCER CONTRACTING		
ITEM NUM.	ITEM DESCRIPTION	UNIT	TOTAL QUANTITY	Unit Cost	CMAQ FUNDING Costs	Unit Cost	TOTAL Costs	Unit Cost	TOTAL Costs	Unit Cost	TOTAL Costs
622-10.01	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (LESS THAN 3 IN. THICK)	SQ YD	1372	\$1.50	\$1,311.00	\$3.55	\$4,870.60	\$6.75	\$9,261.00	\$5.60	\$7,683.20
627-40.00	CONTRACTOR FURNISHED SURVEYING AND STAKING	LS	1	\$16,070.00	\$14,064.04	\$5,000.00	\$5,000.00	\$8,500.00	\$8,500.00	\$5,830.00	\$5,830.00
710-10.10	EPOXY COATED TIE BARS (DRILLED AND INSTALLED)	LBS	1670	\$15.00	\$21,495.00	\$1.00	\$1,670.00	\$0.50	\$835.00	\$3.70	\$6,179.00
803-10.00A	TURF TYPE TALL FESCUE SODDING	SQ YDS	734	\$5.00	\$3,325.00	\$12.00	\$8,808.00	\$12.35	\$9,064.90	\$12.70	\$9,321.80
805-20.00A	SEEDING WARM SEASON MIXTURES	AC	0.1	\$1,750.00	\$175.00	\$30,000.00	\$3,000.00	\$30,000.00	\$3,000.00	\$31,800.00	\$3,180.00
806-10.17	TEMPORARY SEEDING	AC	0.4	\$1,000.00	\$300.00	\$6,000.00	\$2,400.00	\$100.00	\$40.00	\$6,360.00	\$2,544.00
806-10.19	SILT FENCE	LF	1289	\$2.50	\$2,952.50	\$2.75	\$3,544.75	\$1.00	\$1,289.00	\$2.75	\$3,544.75
806-10.21	TYPE I DITCH CHECK	EA	2	\$125.00	\$250.00	\$100.00	\$200.00	\$115.00	\$230.00	\$121.90	\$243.80
806-10.25	INLET CHECK	EA	8	\$125.00	\$1,000.00	\$80.00	\$640.00	\$125.00	\$1,000.00	\$206.70	\$1,653.60
806-99.02	TREE PROTECTION	EA	2	\$200.00	\$400.00	\$300.00	\$600.00	\$50.00	\$100.00	\$218.50	\$437.00

PSE Page 2 of 6 10/19/18



SUMMARY OF QUANTITIES				CBB OPC		SPENCER CONTRACTING		GERSHENSON CONSTRUCTION		SPENCER CONTRACTING	
ITEM NUM.	ITEM DESCRIPTION	UNIT	TOTAL QUANTITY	Unit Cost	CMAQ FUNDING Costs	Unit Cost	TOTAL Costs	Unit Cost	TOTAL Costs	Unit Cost	TOTAL Costs
	ROADWAY ITEMS SUB-1	OTAL =			\$324,240.36		\$326,586.14		\$355,737.68		\$363,252.01
DRAINAGE ITEMS											
731-00.60	PRECAST CONCRETE MANHOLE - 60 IN	LF	5.4	\$500.00	\$2,700.00	\$985.00	\$5,319.00	\$635.00	\$3,429.00	\$939.75	\$5,074.65
731-10.30	PRECAST CONCRETE DROP INLET 3 FT X 2 FT-6IN	LF	4.3	\$500.00	\$2,150.00	\$1,170.00	\$5,031.00	\$455.00	\$1,956.50	\$667.80	\$2,871.54
731-10.32	PRECAST CONCRETE DROP INLET 3 FT X 2 FT	LF	9.9	\$500.00	\$4,950.00	\$1,881.00	\$18,621.90	\$788.00	\$7,801.20	\$871.80	\$8,630.82
731-99.02 *	EX INLET/MANHOLE (ADJUST TO GRADE)	EA	1	\$750.00	\$750.00	\$1,094.00	\$1,094.00	\$450.00	\$450.00	\$1,034.00	\$1,034.00
726-12.24	24 IN. CLASS II REINFORCED CONCRETE PIPE CULVERT	LF	32	\$25.00	\$800.00	\$99.66	\$3,189.12	\$74.00	\$2,368.00	\$90.00	\$2,880.00
726-12.30	30 IN. CLASS II REINFORCED CONCRETE PIPE CULVERT	LF	25	\$30.00	\$750.00	\$100.00	\$2,500.00	\$150.00	\$3,750.00	\$232.00	\$5,800.00
730-99.03 *	6 IN. PVC PIPE CULVERT	LF	103	\$20.00	\$2,060.00	\$31.30	\$3,223.90	\$43.00	\$4,429.00	\$31.00	\$3,193.00
732-06.24	24 IN. PRECAST CONCRETE FLARED END SECTION	EA	2	\$500.00	\$1,000.00	\$825.00	\$1,650.00	\$1,300.00	\$2,600.00	\$1,056.00	\$2,112.00
732-99.02 *	6'x9'. PRECAST CONCRETE ELLIPTICAL FLARED END SECTION	EA	1	\$7,500.00	\$7,500.00	\$12,528.00	\$12,528.00	\$3,500.00	\$3,500.00	\$11,031.00	\$11,031.00
	DRAINAGE ITEMS SUB-TOTAL =				\$22,660.00		\$53,156.92		\$30,283.70		\$42,627.01
SIGNING ITE	ms										
903.10.10	CONCRETE FOOTINGS, EMBEDDED	CUYD	1.17	\$1,000.00	\$910.00	\$1,800.00	\$2,106.00	\$2,470.00	\$2,889.90	\$1,908.00	\$2,232.36
903-12.20	PIPE POST	LB	818.1	\$5.00	\$3,243.50	\$6.00	\$4,908.60	\$6.20	\$5,072.22	\$6.35	\$5,194.94
903-12.50A	U-CHANNEL POST, 3 LB	FT	127.50	\$2.50	\$318.75	\$40.00	\$5,100.00	\$25.00	\$3,187.50	\$42.40	\$5,406.00
903-12.40	BREAKAWAY ASSEMBLY	EA	9	\$100.00	\$700.00	\$75.00	\$675.00	\$103.00	\$927.00	\$79.50	\$715.50
903-50.04A	SH-FLAT SHEET	SQFT	81.50	\$20.00	\$1,270.00	\$32.00	\$2,608.00	\$31.00	\$2,526.50	\$33.90	\$2,762.85
903-99.02 *	RELOCATE SIGNS	EA	3	\$100.00	\$300.00	\$200.00	\$600.00	\$350.00	\$1,050.00	\$212.00	\$636.00
	SIGNING ITEMS SUB	-TOTAL =			\$6,742.25		\$15,997.60		\$15,653.12		\$16,947.65
STRIPING											
620-61.06	ACRYLIC WATERBORNE PAVEMENT MARKING PAINT, 6 IN, WHITE	LF	1727	\$1.20	\$1,959.60	\$0.65	\$1,122.55	\$0.70	\$1,208.90	\$0.70	\$1,208.90
620-61.22	ACRYLIC WATERBORNE PAVEMENT MARKING PAINT, 12 IN, WHITE	LF	416	\$2.40	\$998.40	\$4.00	\$1,664.00	\$4.15	\$1,726.40	\$4.25	\$1,768.00
620-61.24	ACRYLIC WATERBORNE PAVEMENT MARKING PAINT, 24 IN, WHITE	LF	207	\$4.80	\$993.60	\$8.00	\$1,656.00	\$8.25	\$1,707.75	\$8.45	\$1,749.15
620-60.01B	4 IN. YELLOW ACRYLIC WATERBORNE PAVEMENT MARKING PAINT	LF	1848	\$0.80	\$1,478.40	\$0.60	\$1,108.80	\$1.00	\$1,848.00	\$0.65	\$1,201.20
620-99.03 *	ACRYLIC WATERBORNE PAVEMENT MARKING PAINT, 12 IN, YELLOW	LF	74	\$2.40	\$177.60	\$4.00	\$296.00	\$4.15	\$307.10	\$4.25	\$314.50
620-99.03 *	ACRYLIC WATERBORNE PAVEMENT MARKING PAINT, CURB PAINT, YELLOW	LF	166	\$1.20	\$199.20	\$3.00	\$498.00	\$3.25	\$539.50	\$3.10	\$514.60
620-51.30	TYPE 2 PREFORMED MARKING TAPE (GROOVED), LEFT/RIGHT ARROW	EA	11	\$500.00	\$5,500.00	\$350.00	\$3,850.00	\$361.00	\$3,971.00	\$371.00	\$4,081.00

Page 3 of 6 10/19/18



SUMMARY OF QUANTITIES				СВЕ	OPC	SPENCER CONTRACTING		GERSHENSON CONSTRUCTION		SPENCER CONTRACTING	
ITEM NUM.	ITEM DESCRIPTION	UNIT	TOTAL QUANTITY	Unit Cost	CMAQ FUNDING Costs	Unit Cost	TOTAL Costs	Unit Cost	TOTAL Costs	Unit Cost	TOTAL Costs
620-51.31	TYPE 2 PREFORMED MARKING TAPE (GROOVED), STRAIGHT ARROW	EA	3	\$500.00	\$1,500.00	\$300.00	\$900.00	\$335.00	\$1,005.00	\$318.00	\$954.00
620-51.40	TYPE 2 PREFORMED MARKING TAPE (GROOVED), WHITE, YIELD LINE TRIANGES	EA	21	\$500.00	\$5,000.00	\$35.00	\$735.00	\$37.00	\$777.00	\$37.00	\$777.00
620-99.03 *	ACRYLIC COPOLYMER FAST DRY PAVEMENT MARKING PAINT, SYMBOL, BLUE	EA	3	\$500.00	\$0.00	\$100.00	\$300.00	\$125.00	\$375.00	\$106.00	\$318.00
620-99.03 *	ACRYLIC COPOLYMER FAST DRY PAVEMENT MARKING PAINT, ACRYLIC WATERBORNE PAVEMENT MARKING PAINT, 4 IN, BLUE	LF	772	\$0.80	\$0.00	\$1.00	\$772.00	\$1.25	\$965.00	\$1.05	\$810.60
	STRIPING SUB-TOTAL =				\$17,806.80		\$12,902.35		\$14,430.65		\$13,696.95
BICYCLE/PED	ESTRIAN ITEMS										
608-10.10	CONCRETE CURB RAMP	SQYD	52	\$150.00	\$7,800.00	\$119.11	\$6,193.72	\$95.00	\$4,940.00	\$100.15	\$5,207.80
608-60.04	CONCRETE SIDEWALK, 4 IN.	SQYD	199	\$45.00	\$8,955.00	\$43.00	\$8,557.00	\$36.70	\$7,303.30	\$58.35	\$11,611.65
608-10.12	TRUNCATED DOMES	SQ FT	109	\$20.00	\$2,180.00	\$17.23	\$1,878.07	\$24.00	\$2,616.00	\$22.75	\$2,479.75
	BICYCLE/PEDESTRIAN ITEMS SUB-TOTAL =				\$18,935.00		\$16,628.79		\$14,859.30		\$19,299.20

Page 4 of 6 10/19/18



SUMMARY OF QUANTITIES				СВВ	OPC	SPENCER CO	SPENCER CONTRACTING		CONSTRUCTION	SPENCER CONTRACTING	
ITEM NUM.	ITEM DESCRIPTION	UNIT	TOTAL QUANTITY	Unit Cost	CMAQ FUNDING Costs	Unit Cost	TOTAL Costs	Unit Cost	TOTAL Costs	Unit Cost	TOTAL Costs
ELECTRICAL											
901-11.15	BRACKET ARM, 15 FT.	EACH	4	\$600.00	\$2,400.00	\$531.00	\$2,124.00	\$635.50	\$2,542.00	\$562.85	\$2,251.40
901-13.00	LUMINAIRE, 150 WATT LED (MAST ARM LTG)	EACH	4	\$850.00	\$3,400.00	\$407.00	\$1,628.00	\$357.00	\$1,428.00	\$431.40	\$1,725.60
902-02.11	SIGNAL HEAD, TYPE 1S	EACH	6	\$950.00	\$5,700.00	\$523.00	\$3,138.00	\$617.00	\$3,702.00	\$554.35	\$3,326.10
902-02.13	SIGNAL HEAD, TYPE 3S	EACH	1	\$1,150.00	\$1,150.00	\$719.00	\$719.00	\$870.00	\$870.00	\$762.15	\$762.15
902-05.13	SIGNAL HEAD, TYPE 3B	EACH	7	\$1,300.00	\$9,100.00	\$857.00	\$5,999.00	\$1,042.00	\$7,294.00	\$908.40	\$6,358.80
902-05.14	SIGNAL HEAD, TYPE 4B	EACH	4	\$1,600.00	\$6,400.00	\$951.00	\$3,804.00	\$1,247.00	\$4,988.00	\$1,008.00	\$4,032.00
902-27.08	POST, SIGNAL 8 FT.	EACH	2	\$950.00	\$1,900.00	\$691.00	\$1,382.00	\$761.00	\$1,522.00	\$732.45	\$1,464.90
902-31.25	POST, TYPE CL, 25 FT. ARM	EACH	1	\$7,000.00	\$7,000.00	\$5,152.00	\$5,152.00	\$4,650.00	\$4,650.00	\$5,461.00	\$5,461.00
902-31.40	POST, TYPE CL, 40 FT. ARM	EACH	2	\$9,000.00	\$18,000.00	\$7,824.00	\$15,648.00	\$7,560.00	\$15,120.00	\$8,293.00	\$16,586.00
902-31.55	POST, TYPE CL, 55 FT. ARM	EACH	1	\$10,400.00	\$10,400.00	\$10,638.00	\$10,638.00	\$1,070.00	\$1,070.00	\$11,276.00	\$11,276.00
902-42.83	CONTROLLER ASSEMBLY HOUSING, NEMA TS2 CONTROLLER	EACH	1	\$18,000.00	\$18,000.00	\$14,569.00	\$14,569.00	\$20,025.00	\$20,025.00	\$15,443.00	\$15,443.00
902-49.75	VIDEO DETECTION SYSTEM, W/DILEMMA ZONE RADAR	EACH	1	\$40,000.00	\$40,000.00	\$27,614.00	\$27,614.00	\$37,285.00	\$37,285.00	\$29,270.00	\$29,270.00
902-86.21	POWER SUPPLY ASSEMBLY, T2 WITH 120V LTG CABINET & UPS	EACH	1	\$8,500.00	\$8,500.00	\$10,900.00	\$10,900.00	\$15,350.00	\$15,350.00	\$11,554.00	\$11,554.00
902-52.00	CONDUIT, 2 IN., TRENCH WITH TRACER WIRE	LIN. FT.	104	\$10.00	\$1,040.00	\$8.85	\$920.40	\$10.30	\$1,071.20	\$9.35	\$972.40
902-53.00	CONDUIT, 3 IN., TRENCH WITH TRACER WIRE	LIN. FT.	103	\$12.00	\$1,236.00	\$9.40	\$968.20	\$12.40	\$1,277.20	\$9.95	\$1,024.85
902-73.00	CONDUIT, 3 IN., PUSHED WITH TRACER WIRE	LIN. FT.	342	\$25.00	\$8,100.00	\$25.25	\$8,635.50	\$29.90	\$10,225.80	\$26.80	\$9,165.60
902-81.00	CABLE, 10 AWG 1 CONDUCTOR, POLE AND BRACKET	LIN. FT.	420	\$3.00	\$1,260.00	\$0.83	\$348.60	\$0.55	\$231.00	\$0.85	\$357.00
902-82.08	CABLE, 8 AWG 1 CONDUCTOR, POWER	LIN. FT.	150	\$1.85	\$277.50	\$1.28	\$192.00	\$0.70	\$105.00	\$1.35	\$202.50
902-83.02	CABLE, 12 AWG 2 CONDUCTOR	LIN. FT.	930	\$2.00	\$1,860.00	\$1.28	\$1,190.40	\$1.05	\$976.50	\$1.35	\$1,255.50
902-83.08	CABLE, 16 AWG 2 CONDUCTOR	LIN. FT.	1510	\$2.00	\$3,020.00	\$1.11	\$1,676.10	\$1.05	\$1,585.50	\$1.20	\$1,812.00
902-83.10	CABLE, 16 AWG 5 CONDUCTOR	LIN. FT.	1300	\$2.00	\$2,600.00	\$1.28	\$1,664.00	\$1.30	\$1,690.00	\$1.35	\$1,755.00
902-83.11	CABLE, 16 AWG 7 CONDUCTOR	LIN. FT.	2920	\$2.50	\$7,300.00	\$1.50	\$4,380.00	\$1.55	\$4,526.00	\$1.60	\$4,672.00
902-88.11	PREFORMED PULLBOX, CLASS 2	EACH	3	\$1,100.00	\$3,300.00	\$1,134.00	\$3,402.00	\$1,380.00	\$4,140.00	\$1,202.00	\$3,606.00
902-88.12	PREFORMED PULLBOX, CLASS 3	EACH	2	\$1,750.00	\$3,500.00	\$1,554.00	\$3,108.00	\$1,660.00	\$3,320.00	\$1,647.00	\$3,294.00
902-91.00	BASE, CONCRETE	CUYD	15.9	\$1,050.00	\$16,695.00	\$1,282.00	\$20,383.80	\$1,916.00	\$30,464.40	\$1,358.00	\$21,592.20
902-99.01	TRAFFIC SIGNAL MAINTENANCE & PROGRAMMING	LS	1	\$15,000.00	\$15,000.00	\$14,233.00	\$14,233.00	\$7,210.00	\$7,210.00	\$15,086.00	\$15,086.00
902-99.02	PUSHBUTTON POST	EACH	2	\$650.00	\$1,300.00	\$758.00	\$1,516.00	\$770.00	\$1,540.00	\$803.50	\$1,607.00
902-99.02	RELOCATE/RETERMINATE FIBER OPTIC CABLES	EACH	2	\$750.00	\$1,500.00	\$2,326.00	\$4,652.00	\$1,650.00	\$3,300.00	\$2,465.00	\$4,930.00
902-99.02	SPECIAL EVENT BUTTON	EACH	1	\$800.00	\$800.00	\$575.00	\$575.00	\$557.00	\$557.00	\$609.50	\$609.50
902-99.02	NETWORK CONNECTED SIGANL MONITOR	EACH	1	\$1,200.00	\$1,200.00	\$900.00	\$900.00	\$1,156.00	\$1,156.00	\$954.00	\$954.00

Page 5 of 6 10/19/18



SUMMARY OF QUANTITIES				CBB OPC S		SPENCER C	SPENCER CONTRACTING		CONSTRUCTION	SPENCER CONTRACTING	
ITEM NUM.	ITEM DESCRIPTION	UNIT	TOTAL QUANTITY	Unit Cost	CMAQ FUNDING Costs	Unit Cost	TOTAL Costs	Unit Cost	TOTAL Costs	Unit Cost	TOTAL Costs
902-99.02	DETECTOR, PUSHBUTTON W/APS FEATURE	EACH	6	\$1,000.00	\$6,000.00	\$595.00	\$3,570.00	\$990.00	\$5,940.00	\$630.70	\$3,784.20
902-99.02	SDLC PANEL	EACH	1	\$300.00	\$300.00	\$253.00	\$253.00	\$1.05	\$1.05	\$268.00	\$268.00
910.37.00	CCTV CAMERA ASSEMBLY	EACH	1	\$10,000.00	\$10,000.00	\$6,210.00	\$6,210.00	\$3,780.00	\$3,780.00	\$6,582.00	\$6,582.00
	ELECTRICAL SUB-TOTAL =				\$218,238.50		\$182,093.00		\$198,942.65		\$193,040.70
_								_			
	BID SUMMATION				\$608,622.91		\$607,364.80		\$629,907.10		\$648,863.51

Page 6 of 6 10/19/18